1R RR

59 NMHERKRERTER(AO10F5ALTY)

N i+ # R &
J"EﬁL %ﬂﬁ]ﬁ% }]'E EQ E é 3500 r A
(105 A B11) '
USH K=
2 =H 2,877 3,250
1] {& = 4011
25 B 3896 | g | 3000
3 ;.é.: il 3,850
4| 37 i) 3,826
5|48 3813 2750 |
6|5 I8 3649 | g
7178 3624 | T | 2500
SSERE 3,602 20 21 22 23 24 25
ofFk H 3,565 #
0 = ;u 522 |, \ -+ EBE = 2E \
12| & F 3,468
13| f8 K 3,449
4E # 3,359
154 48 3345 | A
16| 7% b1 3,307 = BEE £ =
17| & % 3,302 T R20 3,199 2981
18 & I 3,298 F 21 3113 2819
19/ %0 3 L 3261 | ¥ F 22 2,955 2,695
20 18 B 3,247 zIZEJ{‘.ZS 2,899 2,784
21| = E3 3177 F K24 3,407 2,937
29| LWL ] 3,163 T k25 3,247 2,877
23| £ 5 3,128 I 2
24| K i? 3,125 B B 5 £ 8
S . e
25| & & 3103 | gy (MEEABILIERER 1,740 1,532
gg éj wu’j 3,083 (105 A &t=Y) (124i1)
; 3,075
28| &% [ 3074 |
29\ ® & 3066 | &
30 & IF 3,036 NEEARRIERES 1,408 1,120
g; §=¥ i%jz 3,032 (10F AZt=Y) (12431)
3019 | s
BE B 3011
34| 18 fifd 2,988
3| B 2956 | o (NMERELERERER 99 225
gg £ i) :& 2,940 | 7 |GEEREK:10FALY) (45431)
= 2,938
38l H 2,928
39| & &= 2,714
:(1) ?g - JTI gggé -:fﬁgsﬁﬁ:Ei?’ﬂif]’é‘rﬁéﬁ—t“xﬁ’ﬁﬂ-$¥FEEEEJ-ﬁ:ﬁ%%‘ér)\mﬁ
= , B 1
42 12 S 2571 | ¥ | -smzmes s waosei0m1E
43| i B 2,506 AERS 54
44| = p3ll 2,420 B T ERIRESE 8658 L E A O(FERM254108 1 BHE)
45| F  E 2331 | = | -8% NERRERTEE. NEEABLERRUNEE A RRIERD
46 ; B 2,321 EELNERENERBRORELDOSHTHS.
47 = 2,237

-59 -




